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Correct Marks : 4 Wrong Marks : 1

Which of the following is not an essential
amino acid ?
Options :

40503642646, Valine
40503642647, Leucine

40503642648, LYSine

40503642649, LyTosine

Question Number : 26 Question Id : 40503611781 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503642646, T

40503642647. - 8

40503642648, “NEHI

gcollegedumat
\\\\\ 's largest Student Review Platform

40503642649, SreTHI
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The increasing order ol basicit}-' of the

following compounds is :

(A) (B) (© (D)
Options :

40503642650 (&) < (B) <(C) <(D)

40503642651, (B) <(4) <(D) <(C)

40503642652, (B) < (&) <(C) <(D)

140503642653, (D)< (A4) <(B) <(C)

Question Number : 27 Question Id : 40503611782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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(A) (B) (& (D)
Options :
40503642650, (&) <(B) <(C) <(D)

40503642651, (B) <(A)<(D)<(C) gﬁﬁl‘ﬁ%&?ﬂ&fﬂiiﬁ

40503642652.



40503642653, (D)< (A) <(B) <(C)
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Correct Marks : 4 Wrong Marks : 1
In the following reaction sequence the

major products A and B are :

[
| || - | - (_] i:ll'll'l._'}-'druu'-'i 3 1. fn—1I [g,."ll 1l .

| < AICI, 2. H,PO,

Options :
SHE B N
CO,H JJJ

40503642654.
a= | = 1]
40503642655. O, H
A= ] || | B= | || |
CO,H 1
40503642656.
n\=’| [ b= | ” |
CO,H I
40503642657.
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frAfafEy AfafwEn #9 4 787 3= A a0
BE:

s " TAICl;  2.HgPO, ]

T T -0 )

CO, H ' H

40503642654.
a= T =] T ]
40503642655. O H
PR S
i l || |;H= | | || |
7 CopH I
40503642656.
N
n\=’| || |_:H= | ” |
CO,H I
40503642657.
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The most appropriate reagent for

conversion of C,H;CN into

CH,CH,CH,NH, is :

Options :

LiAIH, A collegedunia

40503642658.

40503642659, VaBH,



40503642660, TNA(CN)BH;

40503642661, —2H2

Question Number : 29 Question Id : 40503611784 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

C,H-CN &l CH,CH,CH,NH, ¥ ufEfdd
Options :

40503642658, Ay

40503642659, "NaBHy

40503642660, NA(CN)BH;

40503642661, —2H2

Question Number : 30 Question Id : 40503611785 Question Type : MCQ Option Shuffling : Yes
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The increasing, order of the acidit}-' of the

u—h}-‘dmgon of the foIIowing cmnpounds

1S :
) ) )
s .. _,_..,?L...E_UME -----JLL----H_\]MEE
(A) (B) ©) (D)
Options :

40503642662. (A) <(C) < (D) < (B)
140503642663, (D)< (C) < (A) < (B)

40503642664, (© < (A) < (B) <(D)
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40503642665. (B) <(C) <(A) <(D)

Question Number : 30 Question Id : 40503611785 Question Type : MCQ Option Shuffling : Yes
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=1 AT F «-BTESIaA & STeATgan o1 =2

FHE:
) 0 )
L A L L
~ ™~ Ph~~ ™~ ~Ph -~ ~0OMe -~ ™~NMe,
(A) (B) © (D)
Options :

40503642662, (A) <(C) < (D) < (B)
140503642663, (D)< (Q) < (A) < (B)

40503642664, (© < (A) < (B) <(D)

40503642665. (B) <(C) <(A) <(D)
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Which of the following derivatives of

alcohols is unstable in an aqueous base ?

Options :

0
spllies
40503642666, 1O Me

RO —CMe,
40503642667, :

RO ‘x_\ J g collegedunia:
I Yoy Y India 's largest Student Review Platfor m
A

40503642668.



40503642669, RO

Question Number : 31 Question Id : 40503611786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

O
ol
40503642666, O “Me
RO ~CMe,
40503642667. :
| O J
40503642668.
40503642669. RO~ O
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Correct Marks : 4 Wrong Marks : 1

If a person is suffering from the deficiency

of nor-adrenaline, what kind of drug can

be suggested ?
Options :
40503642670, Antihistamine gcollegeduniaz

40503642671, ‘Analgesic



40503642672, Anti-inflammatory

40503642673 Antidepressant
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& @ fFa gwr =i Sy @ geme fem
TFd 27
Options :

40503642670. weed

40503642671. e

40503642672, Fraeas (TET-FTHTHET)

40503642673, NAATHICH
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In the sixth period, the orbitals that are

filled are:
Options :
40503642674, 05 P, 64, 6f

40503642675, 0521 64, 6p

40503642676, ©%°d-5L 6P

40503642677, 054,54, 6p
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TS AETE H, 9 T 90 FTEF T

Options :

40503642674

40503642675

40503642676

40503642677.

6s, 6p, 6d, 6f
6s, 5§, 6d, bp
6s, 5d, 5¢, 6p

6s, 4f, 5d, 6p

Question Number : 34 Question Id : 40503611789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation :

Vertical

Correct Marks : 4 Wrong Marks : 1

An Ellingham diagram provides

information about :

Options :

40503642678.

40503642679.

40503642680.

40503642681.

the kinetics of the reduction

process.

the conditions of pH and potential

under which a species is

thermodynamically stable.

the temperature dependence of
the standard Gibbs energies of

formation of some metal oxides.

the pressure dependence of the
standard electrode potentials of
reduction reactions involved in

the extraction of metals.
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ufem @i fom 9= F 9w Fa E 9w
2

Options :

40503642678, NI FEHH I AT |

dug (pH) o1 fava =i o formd =

10503642679, TATEiTSl SR B9 § fer Bt ¥
F9 U AFEEE & gEEA H °HS

40503642680, TSt Sl < Y F7a |

o1 35 o & fafe st siffen

40503642681 ing. SIS fAvE i < e
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The equation that represents the water-gas
shifll reaction is :

Options :

.C{s} + Hy0(g) —2% ., CO(g) + Ha(g)

40503642682.
1270 s p
CHy (g) + HyO(g) ———— CO(g) + 3 Ha(g)
40503642683. Ni
Hpa 6TIK .
CO(g) + HpO(g) ——=— CO;(g) + Ha(g)
40503642684, Catalyst
2 C(s)+ Oy (g)+4 Na(g)—"25 52 COfg) + 4 N (g) llegedunias
40503642685, 28)+4 Na(g B 4N (g P collegedunia

Question Number : 35 Question Id : 40503611790 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1

Options :

C(s) + H,0(g) —2% CO(g) + Ha(g)
40503642682. = 2

CH, (g) + HyO(g) —2K , CO(g) + 3 Ha(g)
40503642683. ” SRS Mi i 25

CO(g) + HyO(g) —222K 5 CO,(g) + Hy(g)

40503642684.

2 C(s)+ 0, (g) +4 Ny (g)—22K 52 CO(g) + 4 N, (g)

40503642685.

Question Number : 36 Question Id : 40503611791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The structure of PCIE in the solid state is :
Options :
trigonal bipyramidal

40503642686.
40503642687, Square pyramidal
tetrahedral [PCl,]* and octahedral
[PCl]
40503642688. ;
square planar [PCl,] * and octahedral
40503642689. s

Question Number : 36 Question Id : 40503611791 Question Type : MCQ Option Shuffling
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option gcollegeduma
Orientation : Vertical - *

Correct Marks : 4 Wrong Marks : 1
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Options :
40503642686, 1A ara TaTTTHE]

40503642687, 1 THIHST

TqUEEFA [PCL,]* A9 ST=FEHE
40503642688, 1'16]
=1 wEael [PCl,] " q91 Aherh

[PCl)
40503642689. ;

Question Number : 37 Question Id : 40503611792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1

The correct electronic configuration and
spin-only magnetic moment (BM) of
Gd3t (£=64), respectively, are :

Options :
40503642690, [Xel 47 and 7.9

40503642601, LXel 47 and 8.9

40503642692, 1Xe] 57 and 7.9

40503642693, kel Sf" and 8.9

Question Number : 37 Question Id : 40503611792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
Gd**(Z=64) F Wl SeiaI-e fa=amd a1
oA graafiq S qu:ﬁ {BP"'I-Eh € gcqllegeduniaz

Options :
40503642690, | Xe] 4 =79



40503642601, LXel 41" A=M8.9

40503642692, [Xel 57 @79

40503642693, LXe] Sf" @189

Question Number : 38 Question Id : 40503611793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
The values of the crystal field stabilization
energies for a high spin d® metal ion in
octahedral and tetrahedral fields,

respectively, are :

Options :

40503642694, 048 and —0.6 4,
A ey

40503642695, ~ >+ Boand —0.6 4
—16A and —04 A

40503642696. 0 ,

40503642607 04 Apand —0.27 4,

Question Number : 38 Question Id : 40503611793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ACFAFE T4 TGRSR 451 § 39 TIH
d6 =g &1 o o foree o foerdamo Ssniei
=1 A FHHIM: B ;

Options :

40503642694, — 0-3 8, T —0.6 4,

~24 A T - 0.64,
40503642695. =
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~1.6 A, T —04A,
40503642696, 0

~0.4 A, T —0.27 A,
40503642697,

Question Number : 39 Question Id : 40503611794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The condition that indicates a polluted
environment 1s :

Options :

40503642698 pH of rain water to be 5.6

40503642699 0-03% of CO, in the atmosphere

40503642700 BOD value of 5 ppm

40503642701, Cutrophication

Question Number : 39 Question Id : 40503611794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ag F F Eﬁ' : r r » F " %_J

=

=l :
Options :

40503642608 991 = Sfel &l pH 5.6 =M1

10503642600, TAAEA H 0.03% CO, F1 21

40503642700, BOD 1 A 5 ppm Bl

40503642701, 3 gw”eged“”'a

Question Number : 40 Question Id : 40503611795 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
A diatomic molecule X, has a body-centred
cubic (bee) structure with a cell edge of
300 pm. The density of the molecule is

3

6.17 g cm The number of molecules

present in 200 g of X, is :
(Avogadroconstant (N, ) =6 x 102 mol ~ 1)

Options :

2
40503642702. ~ Na

40503642703. i

40N,
40503642704,

40503642705. 8N,

Question Number : 40 Question Id : 40503611795 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

U fERAS A0 X, & HE Hiwd =91
() HrE § faue ®ifes &1
300 pm 1 ] H A 6.17 g cm 3 T
X, & 200 g H IuTEa A0S F & 2
(Nﬁ,ﬁﬁﬁw:{ixlﬂﬂmd 1)
Options :

2
40503642702. ~ Na

40503642703. i

40N,
40503642704,

40503642705. 8N,

gcollegedumaz
\\\\\ 's largest Student Review Platform
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Correct Marks : 4 Wrong Marks : 1

The difference between the radii of 379 and
4™ orbits of Li2* is AR,. The difference
between the radii of 34 and 4% orbits of
He™ is AR,. Ratio AR, : AR, is:

Options :

40503642706, 3:8

40503642707, 8:3

40503642708, 3:2

I3
2

40503642709.

Question Number : 41 Question Id : 40503611796 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
Li2*+ 3 T aen =d w1 Bl # o
AR, ¥1 He* 3 TG aon el efi 1 Breansti
I W AR, ¥l AR, : AR, UM € :

Options :

40503642706, 3:8

oo
[F5)

40503642707.

e
2

40503642708. -

I3
(]

40503642709.

Question Number : 42 Question Id : 40503611797 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical g collegedunia

Correct Marks : 4 Wrong Marks : 1



The potential energy curve for the H,
molecule as a function of internuclear

distance is :

Options :

Energy y
T ‘“\H__
Internuclear
" distance
40503642710. 1stance
Energy ,,
Internuclear
40503642711. distance
F.nr.*.rg}r
Internuclear
distance
40503642712.
Energy o
! /
Internuclear
40503642713. distance
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HaUFaAd g % %o & &9 H H, 30 &
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Options :



.,
-

— HATEFAE

40503642710.

40503642711 —> SR 3

\ s

| L
40503642712. — S i
40503642713, A Ky

Question Number : 43 Question Id : 40503611798 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Consider the following reaction :

N,O,(g) = 2NO, (g) ; AH = +58 k]

For each of the following cases (a, b), the

direction in which the equilibrium shifts

IS5 :
(a) Temperature is decreased.

(b) Pressure is increased by adding
N, at constant T,

Options :

gcollegedumaz
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(a) towards product, (b) towards

40503642714, Teactant

(a) towards reactant, (b) towards

40503642715, Product

40503642716, (@) ¥owardsreactnt, (b) no change

40503642717, (3) towards product, (b) no change

Question Number : 43 Question Id : 40503611798 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

foreferfia st W fa=r AT

N0 (g) = 2NO, (g) ; AH= +58 k]

=1 e T (a, b) H, 7 feem ot wma

T e, 2t -

(a) TY ST SIS

(b) FesR T TN, SRTeht < Fg S & |
Options :

40503642714, (3) SCUR T T (b) ATHFRE il TEH

40503642715, (@) SRR Hl TF (b) IS Hl T

(a) AMYHRF & TF (b) HIE IEd
40503642716, T

40503642717, (@ SR I TTE (b) ik TR Tl

Question Number : 44 Question Id : 40503611799 Question Type : MCQ Option Shuffling
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option g collegedunia:
Orientation : Vertical g TR '

Correct Marks : 4 Wrong Marks : 1



A flask contains a mixture of compounds
A and B. Both compounds decompose by
first-order kinetics. The half-lives for A and
B are 300 s and 180 s, respectively. If the
concentrations of A and B are equal
initially, the time required for the
concentration of A to be four times that of
B (in s) is: (Use In 2 =0.693)

Options :

40503642718, 00

40503642719. 120

40503642720, 200

40503642721, 180

Question Number : 44 Question Id : 40503611799 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A T4 B AT 1 UF fAg v s o
Iufeerd 1 SF1 AfTe 9w Fife =6 Tiaw!
g faefza 2 € | A 9 B 1 15 =71
300s A 180 s &1 A A 91 B FT FrEard
YR H S0 8 Ol A ] 9rEdl ® B i
=l & 91 T 8F H o 37l 999 (HF2
H) 8 : (In2=0.693)

Options :

40503642718, 00

40503642719, 120

40503642720, 200

40503642721, 180
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Question Number : 45 Question Id : 40503611800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Identify the correct molecular picture
showing what happens at the critical
micellar concentration (CMC) of an

aqueous solution of a surfactant (g polar

head; ..~ non-polar tail ; . water).

: L G __: o i _':.-L\L:.r_:L _ 5L C _5_
—e—a—a—| ¢ : ¢ ¢ o 6 6.6 6
R | B2, 2 T ¥ u? ‘ﬁ,__,-'m
B * ."; h-!a" “‘GE‘.
(A) (B) (©) (D)

Options :

40503642722. {ﬂk]
40503642723. {B]
40503642724. {L]

40503642725, (D)

Question Number : 45 Question Id : 40503611800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

40503642722.

frtedt |rEa (CMC) T =41 211 € 591 29
e Wl a9 &1 Tea i | (o gaa
20| t s ﬂﬁu‘i@ . 9e)

- 2000 BB 0 0 i
F—6—6—[ : 3 : ; g2 || SRR 0
v o it ||* et ® . oL@ *
: I AR A )
(4) (B) (©) (D)
Options :
(A)
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40503642723. (B)

40503642724. ©

40503642725, (D)

Sub-Section Number : 2
Sub-Section Id : 405036830
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611801 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The total number of coordination sites in
ethylenediaminetetraacetate (EDTA? ™)
s _______

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 46 Question Id : 40503611801 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Efiml—rsmuﬂmdzmmz (EDTA%") #

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002

Question Number : 47 Question Id : 40503611802 Question Type : SA Display Question N ° Y
Correct Marks : 4 Wrong Marks : 0 gcollegedumaé



The minimum number of moles of O,
required for complete combustion of 1 mole

of propane and 2 moles of butane is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 47 Question Id : 40503611802 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

1 HTel W0 991 2 Wit =924 F i 2e F feu

AETEF O, FI HAeqdH Hiell 5 HeA il
I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 48 Question Id : 40503611803 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

A soft drink was bottled with a partial
pressure of CO, of 3 bar over the liquid at
room temperature. The partial pressure
of CO, over the solution approaches a
value of 30 bar when 44 g of CO, is
dissolved in 1 kg of water at room
temperature. The approximate pH of the
soft drink is x 101,

(First  dissociation constant of
H,CO;=4.0x10 7. log 2=0.3; density
of the soft drink=1 g mL " !)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 48 Question Id : 40503611803 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

F5 A T UH HHE €% H CO, F 3 =N
HAfYIF == W =qed | 29 F 0 9 9 2 |
%% A9 WS 4 g CO, 1 kg 5t H el 8
1 foer = & TR CO, 1 A= <= 30 =N
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A survey shows that 73% of the persons
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